
ag
e

0

ag
e.

fa
ct

or

0

m
or

t_
5y

r

14

114

0915

14



id

0

rx

0

se
x

0

ag
e

0

pe
rf

or

0

ad
he

re

0

st
at

us

0

ex
te

nt

0

no
de

4

0

tim
e

0

se
x.

fa
ct

or

0

rx
.fa

ct
or

0

pe
rf

or
.fa

ct
or

0

ad
he

re
.fa

ct
or

0

ex
te

nt
.fa

ct
or

0

no
de

4.
fa

ct
or

0

st
at

us
.fa

ct
or

0

ag
e.

fa
ct

or

0

tim
e.

ye
ar

s

0

ag
e.

10

0

ho
sp

ita
l

0

m
or

t_
5y

r

14
m

or
t_

5y
r.n

um
14

su
rg

17
su

rg
.fa

ct
or

17

no
de

s

18

lo
cc

om
p

20

lo
cc

om
p.

fa
ct

or

20

ob
st

ru
ct

21

ob
st

ru
ct

.fa
ct

or

21

di
ffe

r

23

di
ffe

r.f
ac

to
r

23
214
61
41
215
118
61
418
21
221
0839

208



Age <40 years

40−59 years
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Odds ratio (95% CI, log scale)

Mortality 5 year: OR (95% CI, p−value)
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Hazard ratio (95% CI, log scale)

Survival: HR (95% CI, p−value)
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